Geometry H Name :

1.4 — 1.5 Quiz Review Date : Period:
1. Find mZABC and m£ZCBD . 2. Find mZEFH and mZHFG.
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3. The measure of one angle is three times the measure of its complement. Find the measure of each
angle.

4. An angle is 24 degrees less than twice the measure of its supplement. Find the measure of each angle.

5. The supplement of an angle is 6 more than 8 times the complement of the angle. Find the measure of
each angle.

6. Use the diagram to the right :
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a. Find mZKPL b. Find mZLPN p
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c. Find mZMPN d. Find mZMPO N



Solve for x and y.

7. 8.

~(9x+ 2\ (10x + 7)°
(18 + 25)°

(5x + 18)°

(16— 27)°

Please find the values of x and y and then find all angle measures.

9. 10.

11. Point B is in the interior of ZCAT. If m£ZCAB = (3x—16)°, mZBAT =(7x—8)°, and
mZCAT = (3x+60)°, please find the measures of all three angles.

12. ZA and /B are complementary angles. If MZA = (2x* +35)° and mZB = (x+10)°, then what

are the possible measures of both angles?



13. Given that ZA and /B are supplementary angles, and mZA = (§X+50j° and mZB = (x+31)°

find mMZA and mZB..

14. BD bisects ZABC. Please find mZABD, m~/DBC, and mZABC.

(2x+16° D

15. Let Q be in the interior of ZPOR. Use the angle addition postulate to solve for x and find the
measure of each angle.

mZPOQ = (x+4)°
mZQOR = (2x—2)°

mZPOR = 26°

16. Given BT bisects ZABC. Find the value of x.




17. BD bisects ZABE and ﬁf bisects ZEBC. Please find mZDBF.
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18. /1 is supplementary to £2 and £2 is supplementary to Z3. If m/1=(5x—48)° and
m/3 = (2x+30)°. Please find m£2.

19.1f CG bisects ZFCB, m£FCB = (18x+6)° and mZGCB = (13x—9)°, find m£GCF.

20. If m«K and m.J are supplementary, and m«K is 5 more than 6 times the m«J, then m«K =



21. «1 and £2 are supplementary angles. «1 and £3 are vertical angles. If m«2 = 72°, what is m«3?

22. ZAand ZBare complementary angles. ZC and D are supplementary angles. Find the measures
of the four angles, if mZA =2x°, mZB=6y°, m/C = (6x+ y)°, and m«ZD = (4x + 2y)°.

23. Find the values of x, y, and z, and then find the measure of each angle in the diagram below.
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24. Given the diagram to the right, what are the possible measures of both angles?

(5x +184)° (x2 + 10x + 46) ©
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x =20, mZABC =40°, m£CBD =50°

. Xx=34, mZEFH =96°, m/HFG =84°
. 67.5° 22.5°
. 112°, 68°

One angle: 78°, Complement: 12°, Supplement: 102°

.a) 96° b) 84° c) 28° d) 124°
.x=9,y=4

.x=9,y=9

.x =40,y =35, angles: 55°,125°,55°,125°

.x =15,y =7, angles: 40°,140°, 40°,140°

. Xx=12, mZCAB = 20°, m/BAT =76°, mZCAT =96°

x=4.5 MLA=75.5° and m£B =14.5° OR x=-5: MLA=85° and m£B =5°
X=72, mZA=77°, m/B =103°

x=7, mZABD =30°, m«ZDBC = 30°, mZ£ABC = 60°

x =8, mZPOQ =12°, m£ZQOR =14°

x=19

m~/DBF =90°

m./2 =98°

x =3, mLGCF =30°

m~/K =155°

m./3=108°

x =15, y =10, mZA=30°, m«£B =60°, mZC =100°, m«£D =80°

x=7,y=12, z=35.5, angles: 38°,142°,38°,142°

x =-10: mZABC =134°, m/CBD =46° OR x =-5: mZABC =159°, m/CBD = 21°



